PATTERNS INVESTIGATION 1

Square tables can each seat 4 people as shown.


Copy and complete the following sequence showing the numbers of people that can sit around various numbers of tables:

     1 table

2 tables

3 tables

       4 tables


5 tables




     4 people

6 people

...............
   
      ...............
         ...............

What do you notice about the numbers of people?

How many people could sit around: 
a) 10 tables,

b) 20 tables.

Write down how you got your answers to a) and b).

Find out how many people can sit around 100 tables.
[YOU MUST SHOW CLEARLY YOUR METHOD AND HOW YOU ARRIVED AT YOUR FINAL ANSWER.]

Bob and Jane are working through the above problem.


Bob says: “TO FIND THE NUMBER OF PEOPLE YOU ADD 3 TO THE NUMBER 

        OF TABLES!”


Jane says: “TO FIND THE NUMBER OF PEOPLE, YOU FIRST MULTIPLY THE 

         NUMBER OF TABLES BY 3 AND THEN ADD 1!”

They are BOTH wrong.

Explain why Bob must be wrong.






Explain why Jane must be wrong.

Try and find a rule which works and use your rule to find how many people can sit around 1000 tables.
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